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Kis-FR | KT — B E R A B SRBE — i 38 38 38 172 13,270 163 79.2 95.7%| #hig— M A B3
Kk - SRR pNGi SN 3 BRERR 40 40 40 151 13,141 155 85.9 90.0% | BB FARABEAH
NGRS KIgs KT RBERESS 2 SRR 40 40 40 516 10,231 399 22.4 70.1%| SUEH — R ABTHIS
Kk - R NG KT RERESES 7k AR AR 18 18 18 114 5,283 129 435 80.4% | BB RARABTH2
NGREJE KU Kl i Rmbe s H U 2B —iRAIR 40 40 30 564 10,850 564 19.2 74.3%| 2 MEEA — M ABTRLS
Kis-FR | KT B — MR R 20 53 53 53 1,326 15,764 1,261 12.2 81.5%| R — M ABTH6
NGRS PN EE L — R R SRS 46 46 46 289 4,084 391 12.0 24.3% | 2 — R ABEH6
KR - BRJR NG K EER SRR RERK 57 57 57 272 12,286 284 44.2 59.1% | EERBALTA2
K- FR | K =k 2R (— M) 39 39 39 587 10,464 586 178 73.5%| #hts — A AR
K - FRJR NGl =R SFEFRER (RERR) 40 40 40 58 12,169 53 219.3 83.3% | EERFEARTHH
K5 - R K KT RBER®FERDB —RmR 40 40 40 240 5,205 201 23.6 35.7%| o3 — M A BT A3
NGRS NG K EmEESFRR D EREERE 40 40 40 212 9,256 285 37.2 63.4% | EERBARTA2
PNGEEJS KIgs Kz 7 R b REERAEHHE(SICU) 8 8 8 448 1,460 448 3.3 50.0%|FrEEFAEREEIER2
KI5 - /R PN Kk Kbz ApEFasE R (GCU) 6 6 6 8 54 7 7.2 2.5%  FERBEREEAREREEY
K5 - R KIgs 7 Kl 7 R b AREEamE (NICU) 6 6 6 108 1,376 110 12.6 62.8% | E RFEEFABREEEH2
Kz - FER Kl K R #APHE (CCU-EICU M AaABR4) 12 12 12 549 2,296 557 4.2 52.4% | #an B A4
KI5 - /R K K Bl AR HCU e s ARTR) 18 18 18 1,229 2,935 1,219 2.4 44 7% | e R AT
Kiks-FR | KT Kt RfEhe ARSI 24 24 24 1,394 10,036 1,391 7.2 114.6%| 2R — M ABRH
NGRS KUy Kz 7 Rfwb AREFRRRIR 40 40 40 1,970 11,374 1,972 5.8 77.9%| RIEH — R ABREH
Kis-FR | K Kl R b BB B AR 50 50 50 1,324 15,605 1,326 118 85.5%| A — M ABERHT
KIEs - FEJR Kl Kl 7 Rwbe SFEFEmIR 39 39 39 1,296 12,786 1,306 9.8 89.8%| S MEHA — M A BT
Kis-FR | K Kl R b BRE R 50 50 50 1,669 17,744 1,658 10.7 97.2%| MR — M ABERHT
K- FR | K Kt RfEhe BREFRFIE 50 50 50 1,149 17,106 1,150 14.9 93.7%| AR — M AR
K5 - R KIgs i Kl 7 R b TBE R 50 50 50 1,613 17,224 1,603 10.7 94.4%| SR — MR ABTEH
K- FRE | K Kt RfEhe TREFREIE 50 50 50 1,988 16,645 1,982 8.4 91.2%| AR — M ABTRH
pNGEEDS KIgs K5 7 R fwbe ClEER 42 42 42 1,676 15,477 1,670 9.3 101.0%| 2RI — MR ABTAH
Kiks-FR | KT Kt RFhe 8RS FEE 29 29 29 387 8,026 385 20.8 75.8%| R — AR
K- FER | Kk Kk Rfshe AR EERE UNEAREREIER3) 20 20 20 1,056 3,952 1,062 3.7 54.1%|/NEABRESRE RS
Riks-FER | Kigh EfEAKECS KCABR 2B A 34 34 34 748 7,588 757 10.1 61.1%| R — M ABERI2
K- FR | K EfEAKECS KCEHR 3pEFEE 46 46 46 1,132 8,086 1,131 7.1 48.2%| RMEH—MARBRR2
K5 - ZE R KIgs i AR FEABHEEH T IREERHER 2BE R 53 53 53 427 12,394 427 29.0 64.1%|EEERHZT 1081 ABREAR
K- FR | K ARPEEAEHEEHET)IREHR SEEFE (N EEERK) 44 44 44 118 14,153 118 119.9 88.1% -
K- FRE | EFRET PVRIES — i 40 40 40 525 10,610 332 24.8 72.7%| M — R ABER6
KI5 - SRR B RRET AWRIESHER RERK 50 50 50 210 16,303 208 78.0 89.3% | BB RHARABTH2
NGRS AAHT RARETEERERRRKER EARL 40 40 40 477 8,648 467 18.3 59.2% | S — R ABT R4
Riks-FER  |BAE AR ERERFARER $205H 40 40 40 361 9,521 357 26.5 65.2% | R — I ABER4
NGRS FAAHT RRETE R ERRRKER BEERR 41 41 41 84 11,167 92 126.9 74.6%| EEREABTHH
Kiks-ER - |BRE EfEEAEBCERERERR 1 35 35 35 23 10,802 23 469.7 84.6% | MEFHEARR2
PN L) e — i 50 50 50 337 0 0 0.0 0.0%| it — AR A B3
K- R e Bk fme EARL 56 56 56 291 20,367 291 70.0 99.6% | EERFEABTHEH
Al FRE|EEAT B kB F251 53 53 53 169 19,317 169 1143 99.9%| BB ABTEL
Bk SE | BT AEHIH R — iR 25 25 25 159 3,816 159 24.0 41.8%| — s RAF B A B A
A& BX SE [ RET EREABLE AEO(VILER RER 2B 1R 60 60 60 296 21,665 297 73.1 98.9%| EEHRUNE YT -V AR 1
FE-BX ST |BBET EREEABLE REO/VLER It SRR IE 60 60 60 1,088 18,447 1,117 16.7 84.2%| R HEH — I ABTHI6
S BX SR | BBT EREABLR AEO(VILER HARSMEAE 60 60 60 131 19,894 126 154.8 90.8% | B FIH AR
A BK-SAGE | ABTH EREABLE RENVILER FaEiE 50 50 50 103 17,417 107 165.9 95.4% | EEFEABE
O = F=E i il Sl 2AFHE 46 46 46 804 13,722 791 17.2 81.7%| Bt — M AR E4
% BX SE | RS Vil 2l 2BH#E 48 48 48 206 15,773 209 76.0 90.0%| B ERYNE YT~ 3B AR EH
B BXSAE | RET b alon L 49 49 49 87 17,594 87 202.2 98.4% BB BARTAH
BE-BX SR | BT ok il AR 36 36 36 270 12,067 276 44.2 91.8%| EEFEALE
A BX-RAA [RBT AEHIFHR i 40 40 40 699 11,156 668 16.3 76.4%| 2 HEH— R ABER4
A% B SE |BET AEWIHER BREE 40 40 40 733 11,324 739 15.4 77.6%| Bt — A4
B BX SR | AET AEHIFHR CIEES 40 40 40 879 11,208 872 12.8 76.8%| R HH— R ABER4
RS BX S | BBT AE IR 7 20 20 20 37 4177 152 44.2 57.2%|BH /7 7 AR ABTARI2
B BXSAE |[BET AEWIHER ORs7E 40 40 40 10 10,580 259 78.7 72.5%| EEREALR2
B5-BK-SAGE BB BE5R+FHk ICU-CCU 10 10 10 849 2,957 849 35 B1LO%| B EEFAREEER4
S BX SR | BET BER+ TRk BRI 24 24 24 1,696 7,872 1,696 4.6 89.9%| BB ABE3
B%-BX SR | AET BE5FR+FHk Rl 52 52 52 1,624 15,419 1,617 9.5 81.2%| M — I ABEHHT
A5 BK-SAGE BB BB+ TRk P FEIE 43 43 43 2,107 11,421 2,118 54 72.8%| B tEE— M ABTEH
B EX SR | AET BER+ TRk ABS AR 50 50 50 1,279 17,289 1277 13.5 94.7%| R — I ABEAHT
AE-BX-SAE [BET B5R+FHk ABS PR 52 52 52 1,830 17,022 1,811 9.4 89.7%| MR — M ABERHT
B BX SR | BET BEFR+FHEk R 51 51 51 1,708 16,488 1,714 9.6 88.6%| AP — M AR
A5 BX SR | AET B5R+FHk B PR 53 53 53 1,998 17,258 1,999 8.6 89.2%| MR — M ABERHT
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R EERI R

N R PN

SESMY 24 154 SR _ _ i
=pEmBL | XA AT R 4 P gy | = B RIER TERR TERL jmye purTe| TR | SFMAM | EREE | BE | Tiamm| pik AR

(EERS) | &2 R BBl 3 " R s | EA | mEy | BE | BEx e ARk

R1.7.1 |2025.7.1| R1.7.1 |2025.7.1| R1.7.1 [2025.7.1| R1.7.1 |2025.7.1 R1.7.1 2025.7.1 2025.7.1

R R AR R B A R AR R R AR B R s B A
BE B QB [REH BER+FHERE 6 P& B IR 40 40 40 1,071 13,829 1,073 12.9 94.7% | 2P HA — A% ABTEL 1
BBk RAE (RET BER+FHEGRE 6 B P8 IR 51 51 51 1,249 17,607 1,247 141 94.6% | S MEHA— A% A BT 1
BBk SAB [AEH AER+FRER Jb 1R 3P AR 38 38 38 1,207 13,084 1,208 10.8 94.3% | 2 HA — A% ABTEL 1
B B SIE (REH EFEEAHEHREES AERELRR 2B IR 52 52 52 186 18,230 184 985 96.0%|EEEHEHZ 1081 ABEARY
B BE-SIE (BEH EEEZNHEREER: AERESRR =5 60 60 60 147 21,390 146 146.0 97.7% | EERARA B
B B SIE RS EFEEAMEREEs AERELFR AFERIR 56 56 56 228 20,224 228 88.7 98.9% |[E & HAUNEY) T-2 s AR At 1
Rl EX bl SALBT IR 3RE TSR 42 42 42 1563 11,782 1573 75 76.9% | &t — A B4
B % 5B |SABT KA SRR AP BRI 48 48 48 1,094 14,673 1,096 13.4 83.8% | 2 MR — A% ARt 4
R e Bk SALB ITHB ARETE IR 50 50 50 893| 13,839 893 155 75.8%| RS — A B R4
B B QB |SALBH KA R SIEE R 48 48 48 1,129 14,827 1,133 13.1 84.6% | 2 MEHA— M AReHt4
A% BX-SUE | SALBH SALAT I BB s % 50 50 50 1,006] 16,918 1,011 16.8 92.7%| BB — A BT
BBk SB[ RALBT SALA™ IR Sl 50 50 50 1,031 15,094 1,046 145 82.7%| 2 1A — AR AR Hi4
B % 5B |SABT SALB T IR B R PE 1R 48 48 48 149 8,606 152 57.2 49.1%| & HRUNE)T-S AR ARt T
S-S0 | SALBT EERRR et 60 60 60 244 11,840 250 479 54 1% #hizh— A% A B3
BBk SB[ SALBT RRIERE bt 40 40 40 339 10,666 345 31.2 73.1%)| 3 — & ABRkE3
BBk SB[ RALBT SALBH I A SRR (B8 HAHk B 4RO 1 38 38 38 324 7,027 324 21.7 50.7%| #3g — M A B2
B B QAR [BKH EiEEm R ER EARGE 33 33 33 28 3,557 34 1147 29.5% -
BB QIR [BKT B EERT R LR BIA—F T 58— 1F-2F 40 40 40 21 8,727 18 4475 59.8% -
B B QAR [BKTH EiEEmRIHER EIA—T T2 %— 3F 20 20 20 7 5,598 5 933.0 76.7% -
BB QA [BKH B EERT R LR EOA—F I T A— 20 20 20 5 3,328 4 739.6 45.6% -
A Bk S | KT B EEmEIHER —E 70 70 70 1 1,090 1 1,090.0 4.3% -
B kSN | Bk ExEEm R ER gt 52— 45 45 45 0 0 0 - 0.0% -
B B QAE (B KT BRI K AHR 2B 1R 40 40 32 575 10,119 583 175 69.3% | 2 M HA — A% ABTHL5
B B SB[ BHH BRI KRIERR Sl 50 50 48 73 3,730 45 63.2 20.4% | BB AR T
B B S [BKT Ko IThVE 3=:beSd — MRt 69 69 60 740 16,068 748 216 63.8% | 2 M HA — A% ABEHI6
A% BX-SIR [ Bk EXirE BiRhk BEERE 30 30 30 70 10,801 69 155.4 98.6% | BEERE AR
BB QA [BKH o TRV PN sl AN B 3PS R AR 20 20 20 267 4,181 269 15.6 57.3%| MR — A% ABTH 3
B BX QB [BKH BN B KT R AR A ABS R IR 44 44 44 803 9,693 797 12.1 60.4% | 2P HA — A% ABeH: 3
B X SB[ B R BB XTERER AN BE BB R AR 52 52 53 504 13,194 516 25.9 69.5% | 2R — A% AR 3
B B QALE [BKT BN B KRR BB 6 B R 1R 52 52 51 614 14,226 602 23.4 75.0% | 2 HA — A% ABEH 3
A% BX- SR [ Bk BEXAMUEXTERR FIERA PR AR 31 31 31 0 0 0 - 0.0% -
BB S | BHT BRmI BT RAER FAAE D PR AR 29 29 29 478 5,864 475 12.3 55.4%|#h BIET 7 IRB AN 2
B%-BX-SE [ Bk BEXMUEXATERR I B O PR AR 30 30 30 111 7,024 111 63.3 64.1%| EIEHNEYT -V ISR ABEEL3
BBk RAB [RMET E R 2- 3R 53 53 53 824 13,662 813 16.7 70.6% | H i G FE 7 7RI A BT
B B SUUB |RMET BBl A 58 58 58 130 15,641 134 1185 73.9% BB RAEARBTEH
B B QB RS EEERT 758 41 41 41 201 10,636 199 53.2 T1 1% EEREA RN
BB 5B |EMNET EEE AL RILA R RJE o 67 67 67 509 13,064 678 22.0 53.4%| 2 EEA — A AR R
B B SUE [RINE™ B gk A RILARERE 2B IR 53 53 53 429 8,965 622 17.1 46.3%| 2 H — M ARk
B Bk SR |Rg = [ERT = REfRT — R 40 40 40 863 11,960 861 13.9 81.9%| 2 MEHA — i A BEAt4
BB SAA |5 = REAT = BESR T BERE 50 50 50 209 17,765 208 85.2 97.3% | EEFRAEARTEL 1

18,909| 2,209 2,059| 9,946 9971 2405| 2568 4074| 3,781 142 133 89 249 166| 338,238| 5,204,865 340,128
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